whs =

.
N
[\
1V
| >\ 7
A 155
1\l
!
Gar
Gar Gar
Gar Gar Wehs
3 #
s60/1| 26012 569/ | p560/ 4560/ |509/° &
SR BHR SIS Btrg
&
whs | whs whs | whs ns | whs
14 | 12 0| & 6 [Ny
B
256076 60,/ 184560,/ 172460, 0, 2565
it
9 81
2547, 7/5%7, /8547, 7 147/ 47, 47/ 7/ 7/ 17,
23 21 19 17 15 13 17 9 7 5 3 7
Wns | Whs | wns | Whs | wes | wes | wns | wns |8 | whs | whs | wes | wns
2547 1/ 7/3547/%, 47, /9] i1, 547/12
\ 547/ ot/ b1 g1/ st por? o1 N 9547/ 2 a5
N
N <
Bl

53| 7
78

lg24/ Js0t/1 ;524/ 12

| 2
;

Pl 628/%

kit

A

Lebknechistrale 76

2578

eg

625/1




